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:— module main.

main :- not(l, X), io:outstream([print(X),nl]).

1]
—

not(In, Out) :- In = O | Out

[}
o

not(In, Out) :- In 1 | Out
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2.2.1 0OO0OOO0OOOO C*

C*4,5| 000000000000 COOODOODOOOOOOOOOOCOOO
O000000000000000000000000000 shaped with, whereO
oooobooobobobooboobo

2.2.1.1 shape

shape U0 0O OD0OOO0OO0O0O0ODOOODOOODODOOOOOODODDOOOO
oo0o00bO0o0obOob0o0obo0obOoboo0obuon shaped 0D 0obooooooonO
oooobooooboobog

shape [1024]goal;

O000Ogoal DIDOOOOODOODOOODOO 102400000000000D0ODO
goooboobobooobuoobobooobuoboboboobo

shape [2] [612]goal2;

oooboooboooooooOooooOooooOoOonO 102400b0b0b00Ob0O
ooooboobobobooboobooboboobobobooboooo

int:goal t1;

U000 shape UUOD0 ODDO0OD0O0O goal DOODDO0ODO0ODOOODOODO
gooobogon

int t1;

oobgobogoboooboobd int 0000Os1 00000000000
goooobgooog

2.2.1.2 with, where

goboooobooboobooobbooboboobbooboobbooooboboon
Uo0o00b00b0obbO0bOwithODOOO shape UOOO0OOOOODOOOO
ooooboooobo

with (goal) {
tl = 1;



oooobobooboob st ob100boboboobooobo

with (goal) {
int:goal t2, t3;

t2 = 2;
t3 = 3;
tl = t3 - t1;

oobooobooboDbOoO 2, t3 00000200 200¢«3 00 3000
ob+t1 00 ¢3 - t200000000000DO0O0O00DOO0DbOObOOObOObO
gooon

gobooobooboboobbooboboobboobbooboboooboon
goboooobbooboooboobbo0obbo0bb0o00bdn where OO
oo

oooobooboooo

with (goal) {
where (t1 '= 1)
tl = 1;

obods1 000 100000b0b00bobs1 01 0bgooooo

2.2.1.3 00OO0OOODOOO

C*O000000000000000000000D0O0000O0000OO000O0
gbooobooboobon

int s1 = 0;
with (goal) {
sl += t1;

O000+=0000000s1 0000000000000 DO0O0OD00O0O +1 00
ooooboobobogoo

with (goal) {
if (&= (t1 == 1))

printf ("success\n");



U000&=000000+1 00000 10000001000 printf OODO
gooon

int:goal add(int:goal a, int:goal b)
{

return a + b;

U00b0000o0b0bO00b00b0bDOgeal OD04int OOOOOODOOOO
gboogoboboobooboboobooboobooboobooobooobooobo
gbooobooboobon
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e J0JOOD (struct,union) 0000000 00OO0DOOOODOODO

O

shape [1024]goal;
struct term {
struct term *car;
struct term *cdr;
};

struct term:goal list;
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int:goal p;
if (p) {
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3.1.5 0O0O0OO

KLl ooooooooooooooooooooooooood

l. 000O00o0oooOooooooboooobooooog
2. 0000000O0O0ooOo

() 00D0O0D0O0ODDOODOODDDOOOOODD

(b) 0DODOODUDOOODODOUOODO0OOOOODOODDOODODOOOODOODD
gooobooboo

(¢) D0DO0DDODOODODODOOOOOOO

gbooboooobooboobobooboooboobo

3.2 0O

00000000000000000000 ¢C*000000000oOoOooOn
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3.2.1 0OOOOODO

0000000 KLioooooooooooooooooobooooooooo
t10t200000 t1 ==t2 (000)0000O00000O00O00 t1 '=t2 (O
00)000000000000D C*00000000O0oOOoDUoOo

typedef int Term_i;

Term_i t1, t2;

oottt 0 t2 0000000000 DO0DO0O0OO0DODODODDODDODO0OO0DbDUOOUODDO
gooobooboboobg

gobooboboobooooobobboobboooboooboooboboon
oooboobooooboobobbobboooobooswr oobobooobooobobo
gooon

a_atom[t1]
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a_atom U0 O0ODOOD0OOODOOODOODO
o0oobooob boobObooboboooboo0ob bobobobooobooo
oooobooboboooboo

typedef char *Atom;
typedef struct Var_ Var;

typedef struct Comp_ Comp;

struct Var_ {
Term_i name;
int num;
Term_i ref;

¥

struct Comp_ {

Term_i func;

int arity;

Term_i args[MAX_ARGS];
};

Atom a_atom[MAX_TERM];
Var a_var [MAX_TERM];
Comp a_comp [MAX_TERM] ;

MAX_TERM 000000000 ODOOCOOO0OCODOMAX_TERM OOODOOODO
oo

00000 (Atem) 00000 (DDODOOODOOO)OO0ODOO

0000 (Var) 00DO0OO0OO0O0ODO0OO0O0DO0ODOOOname DO0OOODOOOOO
000 (0000000000 0)000D0000Onum DO00O0O0O0OODO0ODOOODOO
000000000 0DO0Oref OOOOODODODODOODODOODOOOODOO
ooooooooboooooobooOooboooOoooboOoooboboooobobooOoooooo
ref 000000000 O0ODOOOOODOO

000 (Comp) 0000000 DDOOODDODOOOfunc DODODOO (OO
0000)000000000000Uarity000000000000O0argsOO
oooooooooooon

a_atoma_var a_comp U0 0000000 0O0ODOOOOODOO0ODODOO

oooooooooobooobooOoooooOoOobDooobooboOoooOOooODOo0ODo
ooooooo
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enum Tag_ {
T_ATOM, T_VAR, T_COMP
};

typedef enum Tag_ Tag;

Tag a_tag[MAX_TERM];

00 (Tag) OO T_ATOMOT_VAROT_COMP 0 U O 00000 D0O0ODOOOOOO
gobgoobgooboobooboobuooboo bobooboobobDbooD st
O000000Oa_tagltl] == TATOM O00O0O0Ot1 00000000 OOO0O0OO
gooobogon

3.2.2 0OO0OOODOOOO

0000000 KLigoo KLl odoooooooooooooooooooo
gooon

typedef struct Clause_ Clause;

struct Clause_ {
Term_i head;
int guard_num;
Term_i guard[MAX_GUARD] ;
int body_num;
Term_i body[MAX_BODY] ;
int var_num;

¥

Clause:goal program[MAX_PROGRAM] ;

MAX_PROGRAMO OO KL1OODOOOOOOOOOOOOOOODOOOOMAX_TERM
00000000000 0OMAX_GUARDMAX BODYDOOOOODOOOODOOOOOODO
00000000 0OMAX_GUARD MAX_BODYUO OO ODOOOODOOO

0 (Clause) 0000000000000 0O0OORead 00000000 (ODOO)
U00O0guard_ num 0000000000000 guard0 0000000000000 body_num
OO000000oob0O0oO0O0bvedy DOOODOOOO0DOO0OO0Ovar num 0000000
oooooooooobooono

goal 0 shape OO0 OO0O0OOOOODOCOOOODOOO
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goboooboobooobboobobooboooboooboooboboon
obooooooboobon

oooooobooobooobooboooobboooboboooDbUoobooo
gooobooboboobg

typedef struct Pred_ Pred;

struct Pred_ {
int start;

int num;

¥

Pred:goal predicate[MAX_TERM];

00 (Pred) 00000000000 D0OOUOOOstart 0000000 program
goooooooooOnmOOOOOOOOOOOOOOOOOOOO

predicate D0 O O0OO0OO0OO00OOOO0OOOOOOOOO0OOOOOOOOOO
CoobooOCbooouoobObOUprogram UOOOOOOOOOOOOOOOOOOOO
ocoooooooooo

000000 3.10 KLl ooooooooooboooooooooooo

3.23 OO0OOOODOOOO

ooboobooooboooobboobooobobooobobooobooooon
ooooo c*ooooooood

shape [MAX_GOAL]goal;

goal DO UOO0ODODOOOOODOOO0OOLOOO0ODLOOOODOOOOODO
ooboooboobobobobboobooobboboooboobooobooboobo
gooobooooog

ogobooboobooobooboboobooboboobon

enum State_ {

S_FINISH, S_ACTIVE, S_SUSPEND
+;
typedef enum State_ State;

Term_i:goal term;
Term_i:goal env[MAX_ENV];

State:goal state;
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KLioooooooooo

not(0,0ut) :- true | unify(Out,1).
not(1,0ut) :- true | unify(Qut,O0).

00000 0a_tagla_atomla_varl] a_compll programl] predicate OO0

a_tag a_atom |a_var a_comp predicate
name num func larity @args |start num
0 T ATOM "true"
1 T ATOM "unify"”
2 T_COMP 3 2 45 0 2
3 T ATOM "not"
4 T ATOM "0"
5 [T_VAR 6 1
6 T ATOM "Out"
7 T _COMP 1 2 58 0 2
8 T_ATOM "1
9 T _COMP 3 2 8,10
10 T VAR 6 1
11 T COMP 1 2 10,4
program
head guard num guard body num |body var num
0 2 1 0 1 7 1
19 1 0 1 11 1

O00Oa_atom[0] O "true" D0a_atom[1] 0 "unify" 000000000000
goon

O 3.1: 0000000000
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term UO0DD0D00O0O0D0O0O0DODOO0O0DO0O0ODenv OOOOO0DOOOODOO
00000000 (0D0)0000state0 000000000000 DO0ODOOOOOS_FINISH
S_ACTIVE S_SUSPEND U0 0O0OO0ODOUOODOOOODOOOODDOOOODODDOOODOO
gooobooooboooo

oobooboobobuoobboobidbbenvd0boobooobOoO0ODOOO
goooboobobooobooboboooboobobooboobobooo

app([X0|X1],Y,Z) :- true | |app(X1,Y,Z1) |, unify(Z, [X0[|Z1]).

0000000000000 0000000000 (D0D0term) 00000000
O000000000000000000epp(X1,Y,Z1) 00000 YOOOOOO
O0000000Oterm 00 Y OOa_var[a_compl[term].args[1]] 0000000
Jooobobo0ooooobobbooooobobdooubDbb00dlenv 00
00 YOOODOOOODa_var[a_comp[term].args[1]].aum 0000 (0DOOO
0200000000000000env[a_var[a_comp[term].args[1]].num] (00
OOOenv[2])00OO0O0O0ODO YOOOOOO

3.2.4 0O0O0OO

ooooboobooboobobooobooboboooboon
00000000 C*000000o0onoooooooon

void solve (Clause *goal_cl)

oboobboobi goal_cl DOUODOOOO0OOOO0OOOOO0ODOODOOODOO
gooobgoobobooboobobuoobobboboobo

3.24.1 0OOOOOOODO

oooobobooobooboboooboobooboon

allocate_goal(l, allocate_place);

goal_place = [0]allocate_place[0];

where (pcoord(0) == goal_place) {
env_num = goal_cl->var_num;
allocate_env(env_num, env);
term = goal_cl->body[0];
state = S_ACTIVE;
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allocate_goal U OUOOO0OODOOOOUODOODOOODOODOOODOODOOODOO
allocate_placet OO OOOOOOOOONO goal_place00OODOOODOODOMO
O0goal_place OO0 OO0ODOOOOODOOOOOODODOOOODOOOODODOOO
O000OO0OO0OO0OO0OO0O0OO0OOoOOOO0OODODOODO0OO0OO0O0O”vwhere (pcoord(0) == goal_place)”
00000000 peoord(0) ODDUDUDODOODODOUOOOOODDOOODODODOOO
gooo0o0dooo00oooobObOo0oobU0o0oooOOo0ooD0oobObDO0o0oobODUoOooDOobOo
OO where 0000000000000 00ODOOO0OODODOOOOOOODOOOOO
000000000000 000000000000¢term(00)0env(00)0state(O
D) O00000000Oallocate_eny OO0 O0OO0O0OOOOMOenv_num (D oQd
Oo0o0oD)0oooooooo

oooooooooboooobooboooboo

3.24.2 0OO0OOODOOOO

oooobooooboooboooooboon

where (term == true) {
state = S_FINISH;
}
else where ((tag_term == T_COMP)
&& (comp_term.func == unify)
&% (comp_term.arity == 2)) {
where (b_unify(comp_term.args[0], comp_term.args[1]))

S_FINISH;

state

else

state S_SUSPEND;

0000000 true UODODO0ODOO0ODODUOOSstate O S_FINISHOODOO
gooo

000000 wify0OOOOOODO p_uwnify0 00000000000 0OO0OO
0000000 bOo0bOo0obOonDD state U S_FINISHOOODOOOOODODO
00000000Db00D00D00DO0D0O0ODOD0O0ODOODO stated S_SUSPENDH
googoboog

Uoo0obooboDo0boob0oobO true Dunify 0000000 O00OO0O
ooooobobooooboboooboooboobooobooooobooboobo
goog
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3.2.4.3 00OODO

oo oooboooobbobobbobobbbobobobon

gbooobgooboboobooboboobo

clause_start = predicate[term].start;
clause_num = predicate[term] .num;
for (i = 0, ended = 0;; i++) {
where (i >= clause_num) ended = 1;
if (&= ended) break;
where ('ended) {
clause_temp = program[clause_start+i];
result = commit(clause_temp) ;
where (result != R_NOCOMMIT) {
chosen_clause = clause_start+i;

ended = 1;

O000o00DOOO00DO0O0O00O000D program OOOO00O0OOOOODCOOO
000000 clause_start 00000000000 OO0O0OO0OOO0O clause_num

oooooo
0000000000000 clause_numd OO0OOOOO0O0OO commit OO

UO0O0OOcommit OOO0OD0O0OO0O0 Clause:goal UUUDOOUOODODOUO Result:goal
00000000 0Result OODO

enum Result_ {

R_NOCOMMIT, R_SYSTEM, R_USER

};

typedef enum Result_ Result;

O000OO00O0ODOOR_NOCOMMITOR_SYSTEMOR_USERO OO ODDOUODOOODOODODO
0000000000000000D (D0ODD0O0D0D0D0O0O0O0OO0)DUDOO0OODOO
gbooobgooboboobobobooboobob

ooobbOodd commit DOODODO RNOCCOMMITOOODOOOODOOOODO

000000000000 O0program JOOOO chosen_clause UOOOOOOO
000000000 (000000 result OOOR_USEROODOOODOODOOOODO)
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O00Oclause_num O OOO0OO0O0O0O0 commit OOOOO R_NOCOMMIT OO O OO
O0o0ooooooon (D 00 result OO0 R_NOCOMMIT OOOOOOOOOO
oo)

3.24.4 000O0OOOOODO

000000000000 Oresult OO0 RUSEROODOOOOOODODOOO
goooog

body_num = program[chosen_clause].body_num;
sum_body_num = O;
sum_body_num += body_num;
allocate_goal(sum_body_num, allocate_place);
total_body_num = scan(body_num, 0, CMC_combiner_add,
CMC_upward, CMC_none, CMC_no_field, CMC_exclusive);
for (i = 0, ended = 0;; i++) {
where (i >= body_num) ended = 1;
if (&= ended) break;
where (lended) {
int:goal ended;
int 1i;
current_place =
allocate_place[total_body_num + i];
[current_place]env_num = newenv_num;
for (i = 0, ended = 0;; i++) {
where (i >= newenv_num) ended = 1;
if (&= ended) break;
where ('ended) A

[current_placelenv[i] = newenv[i];

}
[current_placelterm =
program[chosen_clause] .body[i];

[current_placelstate = S_ACTIVE;

s
state = S_FINISH;
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goboobobooooboboobooboobooboobooboboboooobo
oooooboboooobobooboooboobooobooboooboobooobo
UidddddUbody_num 0 sum_body_num U0 000 sub_body_num JO O 0OOO
gbooobooobooobon

gobgooobooboobboobooobooobooobboobooobooon
UodobOO body_num [0 termld envl] statell env_num [J 0 00 0 0 U current_place
gobooooobboooooooboooooooboboboobobbbooogoogg
g

000000000 Db0O0O0Ob0ODbbO0O0n0OD state OS_FINISH OO DO OOOO
oo

3.2.4.5 00O0OOOODO

0000000000000 resultOOOR_NOCOMMITOOODOOODOODOOODO
gbobooboobobobooboboobooboobooboobooobooboobogoobo
Uoo00b0o0bOobbO0obO00obUObDOstate OS_SUSPENDH U D OO DOODOO
3.24.6 0D0O0ODOO

j.2420000000000D00O0O0DOOOODOOOO

while (|= (state == S_ACTIVE)) {
where (state !'= S_FINISH) {

ooboooboboobooobbooboooobDbooobobooboooooooo
goodoboobobooobuooboboobuobbooboobuoboooo

1. 00000000000 oooo
2.000000000D0bOOODO

1000 3.24.1 Ogoal_place DUODOOOOOODOOODOOOODODOOODODO
U000000bU0obOO0o0bU00bUoboboobUuoiUbUdselve oo
2000000000D00000D0O0OO0ODOODOsolve 00D OOO

3.2.56 0O0O0OOOODOOO

gboooboboooboobobooboobobboboobooboboonbo
gooobdooboboobuooboboobobboboobobbooboobo
KLioooooooooooooooooooogood

1. 000000000000 00000O00O0O0DO0O0OLDDO00 (OoUOOoO
O)yooooooo
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2.0000000DO0DO0OOO0OO0OO0O0OO0OO0OODODbDODODObOObObOO
goo

000 l1ooobooooooooooooooobo 20b00ooboboooobooon
gbooobooobobooboon

3.2.5.1 0OUOOOOOODOOOODO

oboboooboboooobboobooobboobobooboooooboon
gjdoooooooooobboooooooooooboooobobbbDboo
gbobooboboobobobuooboobooboobooboobooboooobo
goboobobooooboobobbooboobooboobooboobobobooobo
oo

ooooboooobogooo

1. 0000000000000 KLl oooooogooooooooooooo
goooboobobooobuoobuobooobo

2. 0000000000000 DODODODbDODODODObDODOODbOOObOOO
gooo

., 0000db00bo0bO0Oobo0pDobooOobDOoboboOobDOobboUoDUobo
4. J0D00O0OO0O0O0ODOOODOO

(a) 00DO00DDO0DDO0DDOODOO0ODOOOOOOO
(b D0DO0UDOOOOUOOODO0UOOOOUODOOOOOOO
(¢) 00D0ODODOODO0OODOODOOOOOODOOODOODOOOO

i. 000000000000 o0o00oU0oooooDooDODOoooooo
ooooboooobooboobooboo

. 00o0O000OOooO0OobooOooOooooDo

() DD0DO00DO0DO0OO0OODO0OOOOOOO
5. J0000OO00OO00DOO0bOOoU0OOU0bOOoUOOOobOOUOOOobOoUobOOobUoboboOoo
gooobooobgoo
3.2.,5.2 00O0OOO0ODOOOODOO

gobooboobgbogoobboobooobbooobooboooobooboon
gobooboboooobobooboobooboobooboooboobobooobo
goooboobobobobooboobon

ooooboooobogooo
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0000000000 oOoUOOo KLl ooooooooooooooooooo
obooobooboboooboobobooobo

gooooboogoboobobooboboobobooobooboboboobooo
goon

gooobooobobbobooboboboobobobobobooboobo
gobogoboobooboboobuooboboobooob
gobogbooboobobooboobobooboon

() 000000000000 DDODO0O0O0O00O000O0O0OOO0O0OO0O0OOO
gbooobooboboobgoooo

(b 00ODO0DDOODODODOOOOOOOOO
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ooooon

oooooboboboboboboooboooboobooobooboooboboboobo
goog

4.1 0000OOOOOOODOO KL1

Barklund O [6) 000000000000 00O0O00O0O0O0OOOOOOOO KL1
gbooobgooboboobooboboobo
OoO0O0opooOod0D KLiooooooooooooood

:- append([1,2],[3],R).
append ([A|X],Y,R) :- true | R=[A|Z], append(X,Y,Z).
append ([1,Y,R) :— true | Y=R.

0 4100000000000
goboboboboobooobgooobooobobooobboobooooDoon
gooobooooo

4.2 Fleng 000 GHC O00O0O

Nilsson [7] 00 SIMD OOO0OO0OO0OUOOOD0OOODOOODOOOOOOODO GHC
00000000 FlengOOoOOOOooooooo SIMDOOOOODOOOOO
000000000000 Fleng 000 GHC OOOOODOOOOOOOODOOO
Prolog DOODOOOOOOO

e JOIODOODOODOODOO

e JOOODOODOODOO
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Actual
parametrs

Formal

R parameters

T1 T2 —= ] Tests u2 Ul | Unifications
e
Local
A X Y Z variables
T3 T4 1 U4 U3

0 4.1: append 00 00O

goooboobgon
0000000000 GHCOOoODoOOoOoooooooooo

pX,Y) :- X< 0 | qX,V).
p&,Y) (- X>=0 | r(X,V).

00000 FlengOOOOODODOOOODODODOOO

p(X,Y) :- less(X,0,R), p1(R,X,Y).

pl(true,X,Y) :- qX,Y).

pl(false,X,Y) :- r(X,Y).

less(X,Y,R) :- X:=A, Y:=B, compute(’<’,A,B,R).

00 FlengOOOOOODO SIMDOOOOODOOODODOOODOOOODOOO

g

4.3 0O0OO0OO0OO0OOO

0000000000 ODooooOoOOO SIMDOOODODODODO DOOOOO0
0000000000000000 C*O000000000000oooooooon
0000000000 o0o000O00O0OoooDooooOo0O0 C*0 00ooooooo
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googooboboooobobobobbboodooooooooboooobobbbbog
0000000000000 000o0oo0 C*0 KLl oooooooooooooo
000000000000000000000000000000O00DoO0o0oOO C*
gboooboobobooboobobooboooboo
ooboooobooboboooboooboobobooboboobobooooon
goooobobobobobobobooooobbobooobooboDoobooboobo
gooobooboboobooboboobobbobooboboobooobo
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00000000 C*U00000 KLl OOO0oDoooooooooooooo

*» 0000000
* KL1 000

* coded by age@softlab.is.tsukuba.ac.jp
*/

#include <stdio.h>
#include <stdlib.h>

#include <cscomm.h>

#define MAX_GOAL 128
#define MAX_TERM 1024
#define MAX_PROGRAM 16
#define MAX_GUARD 8
#define MAX_BODY 8
#define MAX_ARGS 8
#define MAX_PREDICATE 16
#define MAX_ENV 16

enum Result_ {
R_NOCOMMIT, R_SYSTEM, R_USER
}s

enum State_ {
S_FINISH, S_ACTIVE, S_SUSPEND
}s

enum Tag_ {
T_ATOM, T_VAR, T_COMP
3
typedef enum State_ State;
typedef enum Result_ Result;

typedef enum Tag_ Tag;

typedef char *Atom;
typedef struct Var_ Var;
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typedef struct Comp_ Comp;
typedef struct Clause_ Clause;
typedef struct Pred_ Pred;
typedef struct Goal_ Goal;

typedef int Term_i;

struct Var_ { /* 00000 */
Term_i name; /* 00 */
int num; /x 00O */
Term_i ref; /« 0O0OoOooo */

};

struct Comp_ { /* 0O0O000oO */
Term_i func; /* 00000 */
int arity; /* 0000 */
Term_i args[MAX_ARGS]; /* OO */

};

struct Clause_ { /* 0000 */
Term_i head; /¥ 000 */
int guard_num; /* 00000 */
Term_i guard[MAX_GUARD]; /+ 0OODO */
int body_num; /* 0oooo */
Term_i body[MAX_BODY]; /+ 00O */
int var_num; /* 0000 */

};

struct Pred_ { /* 000000000 =/
int start; /* 0000 */
int num; /* O */

};

/* shape 00O %/
shape [MAX_GOAL]goal;

Term_i:goal env[MAX_ENV];

int:goal env_num;

Term_i:goal term;

State:goal state;

Clause:goal program[MAX_PROGRAM];
Pred:goal predicate[MAX_TERM];
Clause:goal clause_temp;

int:goal clause_start, clause_num;
Result:goal result;

int:goal ended;

int:goal ij;

int:goal body_num;

int:goal total_body_num;

int:goal current_place;

int:goal chosen_clause;

int:goal allocate_place[MAX_GOAL];
Term_i:goal newenv[MAX_ENV];

int:goal newenv_num;
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/* global varibale */
Tag a_tag[MAX_TERM];
Atom a_atom[MAX_TERM] ;
Var a_var[MAX_TERM];
Comp a_comp[MAX_TERM] ;

int predicate_num;
int sum_body_num;
int j;

Term_i true, unify, anon;

/* local variabel */

static char *nexttoken = 0;
static char text[256];
static int current_term = O;

static int program_start_term;

/* Input & Output */

void error(char *s)

{
char buf[256];
sprintf(buf, "%s\n", s);
fputs(buf, stdout);
exit(1);

}

char *next_token()

{
if (nexttoken == 0) {
if (scanf("Ys', text) == 1) {
nexttoken = (char *) malloc(strlen(text) + 1);
strcpy(nexttoken, text);
¥
else
error("input error!!");
¥
return nexttoken;
}

char *token_read()
{
char *token;
if (nexttoken == 0) {
if (scanf("Ys', text) == 1) {
token = (char *) malloc(strlen(text) + 1);
strcpy(token, text);

}
else
error("input error!!');

}
else {

token = nexttoken;

nexttoken = 0;
}

return token;

33



Term_i term_read()
{
int i, j;
Term_i t;

char *s = token_read();

if (isupper(s[0l) || (s[0] == ’_")) {
t = -1;
for (i = program_start_term; (a_tag[i] >= 0) && (i < MAX_TERM); i++) {
if ((a_taglil == T_VAR) &

(strcmp(a_atom[a_var[i] .name], s) == 0)) {
t = i
break;
}
}
if (¢ == -1) {
t = allocate_term(1);
a_tag[t] = T_VAR;
a_var[t] .name = -1;
for (i = 0; (a_tagli] >= 0) && (i < MAX_TERM); i++) {
if ((a_tag[il] == T_ATOM) &
(stremp(a_atom[i], s) == 0)) {
a_var[t] .name = i;
break;
+
¥
if (a_var[t].name == -1) {
a_var[t] .name = allocate_term(1);
a_tagla_var[t].name] = T_ATOM;
a_atom[a_var[t] .name] = s;
¥
j=0;
for (i = program_start_term; (a_tagl[i]l >= 0) && (i < MAX_TERM);
i++) {
if (a_tag[i] == T_VAR)
j++;
}
a_var[t].num = j;
}
+
else {
if (strncmp(next_token(), "(", sizeof ("(")) !'= 0) {

t = -1;
for (i = 0; (a_tagl[i] >= 0) && (i < MAX_TERM); i++) {
if ((a_tag[il] == T_ATOM) &&
(stremp(a_atom[i], s) == 0)) {
t = i

break;

if (¢ == -1) {
t = allocate_term(1);
a_tag[t] = T_ATOM;
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a_atom[t] = s;

}
}
else {
t = allocate_term(1);
a_tag[t] = T_COMP;
a_comp[t].func = -1;
for (i = 0; (a_tagl[i] >= 0) && (i < MAX_TERM) ; i++) {
if ((a_tagl[il] == T_ATOM) &&
(strcmp(a_atom[i], s) == 0)) {
a_comp[t].func = i;
break;
¥
}
if (a_comp[t].func == -1) {
a_comp[t] .func = allocate_term(1);
a_tagla_comp[t].func] = T_ATOM;
a_atom[a_comp[t].func] = s;
}
token_read();
i=0;
for (;; i++) {
a_comp[t].args[i]l = term_read();
if (strncmp(next_token(), ",", sizeof(",")) !'= 0)
break;
token_read();
¥
if (strncmp(next_token(), ")", sizeof(")'")) != 0)
error(''term read error!!");
token_read();
a_comp[t].arity = i + 1;
¥

}

return t;

void guard_read(Clause *cl)

{
int 1 = 0;
for (;; i++) {
cl->guard[i] = term_read();
if (strncmp(next_token(), ",", sizeof(",")) !'= 0)
break;
token_read();
+
cl->guard_num = i + 1;
}

void body_read(Clause *cl)
{
int i = 0;
for (;; i++) {
cl->body[i] = term_read();
if (strncmp(next_token(), ",", sizeof(",")) != 0)



break;
token_read();
*

cl->body_num = i + 1;

void clause_read(Clause *cl)

{
int i, j;
program_start_term = current_term;
if (strncmp(next_token(), "7-", sizeof("?-")) == 0) {
cl->head = -1;
cl->guard_num = O;
token_read();
¥
else {
cl->head = term_read();
if (strncmp(next_token(), ":-", sizeof(":-")) !'= 0)
error("clause read error!!");
token_read();
guard_read(cl);
if (strncmp(next_token(), "|", sizeof("[|")) !'= 0)
error("clause read error!!");
token_read();
¥
body_read(cl);
if (strncmp(next_token(), ".", sizeof(".")) !'= 0)
error(''clause read error!!");
token_read();
j=0;
for (i = program_start_term; (a_tagli]l >= 0) && (i < MAX_TERM); i++) {
if (a_tag[i] == T_VAR)
jH+;
¥
cl->var_num = j;
}

void term_write(Term_i t)
{
switch (a_taglt]) {
case T_ATOM:
printf("%s", a_atom[t]);
break;
case T_VAR:
printf("Y%s", a_atom[a_var[t].name]);
break;
case T_COMP:
{
int i;
printf("%s(", a_atom[a_comp[t].func]l);
for (i = 0; i < a_comp[t].arity - 1; i++) {
term_write(a_comp[t].args[i]);

printf (", ");
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}

term_write(a_comp[t].args[i]);

printf(")");

void guard_write(Clause *cl)

{
int i;
for (i = 0; i < cl->guard_num - 1; i++) {
term_write(cl->guard[i]);
printf(", ");
}
term_write(cl->guard[i]);
}

void body_write(Clause *cl)

{
int i;
for (i = 0; i < cl->body_num - 1; i++) {
term_write(cl->body[i]);
printf(", ");
¥
term_write(cl->body[il);
¥

void clause_write (Clause *cl)
{
term_write(cl->head);
printf (" - ");
guard_write(cl);
printf (" | ");
body_write(cl);
printf(" .\n'");

/* environment */
void allocate_env(int:goal num, int:goal *env)
{

Term_i temp_term;

int 1i;

int sum_num = O;

sum_num += num;

temp_term = allocate_term(sum_num);

for (i = temp_term; i < sum_num; i++) {

a_tagl[i] = T_VAR;

a_var[i].num = -1;
a_var[i].ref = -1;
+
env[0] = temp_term;

env[0] += scan(num, O, CMC_combiner_add, CMC_upward,

CMC_none, CMC_no_field, CMC_exclusive);
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Term_i allocate_term(int num)

{
int old_term = current_term;
current_term += num;
return old_term;

}

void allocate_goal(int sum, int:goal *place)

{
static int current_place = 0;
int 1i;
for (i = 0; i < sum; i++) {
place[i] = current_place++;
}
}

/* sub function */
int:goal h_unify(Term_i:goal t1, Term_i:goal t2)
{
int:goal r;
Tag:goal tag_tl, tag_t2;
Var:goal var_tl, var_t2;
Comp:goal comp_t1l, comp_t2;
Tag:goal p_tag;
Var:goal p_var;
Comp:goal p_comp;
write_to_pvar(&p_tag, a_tag, boolsizeof(Tag:goal));
write_to_pvar(&p_var, a_var, boolsizeof(Var:goal));
write_to_pvar(&p_comp, a_comp, boolsizeof(Comp:goal));
tag_tl = [t1lp_tag; tag_t2 = [t2]p_tag;
var_tl = [t1]p_var; var_t2 = [t2]p_var;
comp_tl = [t1]lp_comp; comp_t2 = [t2]p_comp;

while (|= ((tag_t1 == T_VAR) && (var_ti.num >= 0)))
where ((tag_ti == T_VAR) && (var_tl.num >= 0))
t1 = env[var_t1.num];
while (|= ((tag_t2 == T_VAR) && (var_t2.num >= 0)))
where ((tag_t2 == T_VAR) && (var_t2.num >= 0))

t2 = envl[var_t2.num];

while (|= ((tag_tl == T_VAR) && (var_tl.ref >= 0)))
where ((tag_t1l == T_VAR) && (var_tl.ref >= 0))
t1 = var_tl.ref;
while (|= ((tag_t2 == T_VAR) && (var_t2.ref >= 0)))
where ((tag_t2 == T_VAR) && (var_t2.ref >= 0))
t2 = var_t2.ref;

where (((tag_t1l == T_VAR) && (var_tl.name == anon))
Il ((tag_t2 == T_VAR) && (var_t2.name == anon))) {
/* 000000000 ooo =/
r = 1; /*x TRUE %/
+
else where (tag_t2 !'= T_VAR) {
/* 000000000 ooo =/
where (tag_t1 == T_VAR) {
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/* 00000000oo =/
r = 0; /* FALSE */
}
else where ((tag_tl == T_ATOM) && (tag_t2 == T_ATOM)) {
/* 00000000oo =/
r = (t1 == t2);
}
else where ((tag_tl == T_COMP) && (tag_t2 == T_COMP)
&& (comp_t1.func == comp_t2.func)
&& (comp_tl.arity == comp_t2.arity)) {
/+ 0000000000 #/
int i;
int:goal ended;
int:goal arity = comp_tl.arity;
r=-1;
for (i = 0, ended = 0;; i++) {
where (i >= arity) ended = 1;
if (&= ended) break;
where (!lended) {
where ('h_unify(comp_t1.args[i], comp_t2.args[i])) {
r = 0; /* FALSE */

ended = 1;
b
}
}
where (r == -1) r = 1; /* TRUE */
}
else
r = 0; /* FALSE */
¥
else {
/* 0000000000 */
var_t2.ref = t1;
r = 1; /% TRUE */
¥
return r;

int:goal b_unify(Term_i:goal t1, Term_i:goal t2)

int:goal r;

Tag:goal tag_t1l, tag_t2;

Var:goal var_t1, var_t2;

Comp:goal comp_t1l, comp_t2;

Tag:goal p_tag;

Var:goal p_var;

Comp:goal p_comp;

write_to_pvar(&p_tag, a_tag, boolsizeof(Tag:goal));
write_to_pvar(&p_var, a_var, boolsizeof(Var:goal));
write_to_pvar(&p_comp, a_comp, boolsizeof(Comp:goal));
tag_tl = [t1llp_tag; tag_t2 = [t2]p_tag;

var_t1l = [t1]p_var; var_t2 = [t2]p_var;

comp_t1l = [t1]lp_comp; comp_t2 = [t2]p_comp;

while (|= ((tag_tl == T_VAR) && (var_tl.num >= 0)))

39



where ((tag_tl == T_VAR) && (var_tl.num >= 0))
t1 = env[var_t1.num];
while (|= ((tag_t2 == T_VAR) && (var_t2.num >= 0)))
where ((tag_t2 == T_VAR) && (var_t2.num >= 0))

t2 = env[var_t2.num];

while (|= ((tag_tl == T_VAR) && (var_tl.ref >= 0)))
where ((tag_tl == T_VAR) && (var_tl.ref >= 0))
tl = var_tl.ref;
while (|= ((tag_t2 == T_VAR) && (var_t2.ref >= 0)))
where ((tag_t2 == T_VAR) && (var_t2.ref >= 0))
t2 = var_t2.ref;

where (((tag_tl == T_VAR) && (var_tl.name == anon))
Il ((tag_t2 == T_VAR) && (var_t2.name == anon))) {
/+ 000000000000 */
r = 1; /* TRUE */
b
else where ((tag_tl == T_ATOM) && (tag_t2 == T_ATOM)) {
/+ 0000000000 #*/
r = (t1 == t2);
b
else where ((tag_tl == T_COMP) && (tag_t2 == T_COMP)
&& (comp_t1.func == comp_t2.func)
&& (comp_tl.arity == comp_t2.arity)) {
/+ 0000000000 =/
int 1i;
int:goal ended;
int:goal arity = comp_tl.arity;
r = -1;
for (i = 0, ended = 0;; i++) {
where (i >= arity) ended = 1;
if (&= ended) break;
where (!'ended) {
where (!b_unify(comp_ti.args[il, comp_t2.args[il)) {
r = 0; /* FALSE #/

ended = 1;
}
}
}
where (r == -1) r = 1; /* TRUE */
}
else where (tag_t1 == T_VAR) {
/* t1 000000 */
where (t1 == t2)
r = 1; /* TRUE */
else
var_tl.ref = t2;
r = 1; /* TRUE */
+

else where (tag_t2 == T_VAR) {
/x t2 000000 =/
var_t2.ref = ti1;
r = 1; /*x TRUE %/
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else
r = 0; /* FALSE %/

return r;

int:goal g_commit(Term_i:goal guard[], int:goal num) /* incomplete */
{
int 1i;
for (i = 0, ended = 0;; i++) {
where (i >= num) ended = 1;
if (&= ended) break;
where ('ended) {
where (guard[i] !'= true)
return 0; /% FALSE %/

¥
return 1; /* TRUE */

Result:goal commit(Clause:goal cl)

{
newenv_num = cl.var_num;
allocate_env(newenv_num, newenv);
where (h_unify(term, cl.head) && g_commit(cl.guard, cl.guard_num)) {
return R_USER;
¥
return R_NOCOMMIT;
¥

void solve (Clause *goal_cl)
{
int:goal ended;
int goal_place;
Tag:goal tag_term;
Comp:goal comp_term;
Tag:goal p_tag;
Comp:goal p_comp;

with (goal) {
/* 00000000 */
allocate_goal(l, allocate_place);
goal_place = [0]allocate_place[0];

where (pcoord(0) == goal_place) {
env_num = goal_cl->var_num;
allocate_env(env_num, env);
term = goal_cl->body[0];
state = S_ACTIVE;

/¥ 00 =/
while (|= (state == S_ACTIVE)) {
where (state != S_FINISH) {

/* */
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/* 0000000000 =/

/* */

write_to_pvar(&p_tag, a_tag, boolsizeof(Tag:goal));
write_to_pvar (&p_comp, a_comp, boolsizeof (Comp:goal));
tag_term = [term]p_tag;

comp_term = [term]p_comp;

where (term == true) {
/* 000000 true/O OO0 */
state = S_FINISH;

¥
else where ((tag_term == T_COMP)
&& (comp_term.func == unify)
&& (comp_term.arity == 2)) {
/* 000000 unify/2 000 #*/
where (b_unify(comp_term.args[0], comp_term.args[1]))
state = S_FINISH;
else
state = S_SUSPEND;
¥
else {

/+ 00000000000 */

/% */
/+ 000000000ooog =/
/% */

/+ 0000000000000000000 */
clause_start = predicate[term].start;
clause_num = predicate[term] .num;
/* 0000000000 */
for (i = 0, ended = 0;; i++) {
where (i >= clause_num) ended = 1;
if (&= ended) break;
where (!ended) {
clause_temp = program[clause_start+i];
result = commit(clause_temp);
where (result != R_NOCOMMIT) {

chosen_clause = clause_start+i;

ended = 1;
¥
}
¥
/* */
/* 000ooO =/
/* */
where (result == R_USER) {

/* 0000000000 =/

body_num = program[chosen_clause].body_num;
sum_body_num = O;

sum_body_num += body_num;
allocate_goal(sum_body_num, allocate_place);

total_body_num = scan(body_num, O, CMC_combiner_add,
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CMC_upward, CMC_none, CMC_no_field, CMC_exclusive);
for (i = 0, ended = 0;; i++) {
where (i >= body_num) ended = 1;
if (&= ended) break;
where (!ended) {
int:goal ended;
int i;
current_place = allocate_place[total_body_num + i];
[current_placelenv_num = newenv_num;
for (i = 0, ended = 0;; i++) {
where (i >= newenv_num) ended = 1;
if (&= ended) break;
where ('ended) {

[current_placelenv[i] = newenv[i];

¥
[current_place]lterm = program[chosen_clause].body[i];

[current_placelstate = S_ACTIVE;

¥
state = S_FINISH;

¥

else where (result == R_NOCOMMIT) {
state = S_SUSPEND;

¥
else {
if (|= result)
error("internal error!!");
¥
¥
¥

¥
/* */
/* 00 active 0D ODODODO =/
/* */

if (&= (state != S_SUSPEND)) {
/* suspend 00000000 %/
fputs("success!!\n", stdout);
for (j = 0; j < [goal_placelenv_num; j++) {
printf("_%d : ", j);
term_write([goal_placelenv[jl);
printf("\n");

}
else {
/* suspend 00000000 %/
fputs('deadlock!!\n", stdout);
for (j = 0; j < MAX_GOAL; j++) {
if ([jlstate == S_SUSPEND) {
term_write([jlterm);

printf("\n");
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/* MAIN */

int main()

{

Clause cl;

int place = 0;

int i, j;

with(goal) {

/* init */

for (i = 0; i < MAX_TERM; i++) {

for

a_tagl[i] = -1;

a_atom[i] = 0;

a_var[i] .name = -1;
a_var[i] .num = -1;
a_var[i] .ref = -1;
a_comp[i] .func = -1;

a_comp[i] .arity = 0;

for (j = 0; j < MAX_ARGS; j ++) {
a_comp[i].args[j]l = -1;

}
predicate[i].start = -1;

predicate[i] .num = 0;

(i = 0; i < MAX_PROGRAM; i++) {

program[i] .head = -1;

program[i].guard_num = -1;

for (j = 0; j < MAX_GUARD; j++) {

program[i].guard[j] = -1;

}

program[i] .body_num = -1;

for (j = 0; j < MAX_BODY; j++) {
program[i] .body[j] = -1;

}

program[i] .var_num = -1;

true = allocate_term(1);
a_tag[true] = T_ATOM;
a_atom[true] = 'true";
unify = allocate_term(1);
a_tag[unify] = T_ATOM;
a_atom[unify] = "unify";
anon = allocate_term(2);
a_taglanon] = T_ATOM;

a_atom[anon] = "_";

for (3) {

clause_read(&cl);

if (cl.head == -1) {
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printf("?- ");
body_write(&cl);
printf("\n");

if (cl.body_num != 1) {

error("goal must be only one!!');

+
solve(&cl);
break;
b
else {
clause_write(&cl);
if ((place > 0)
&& ([Olprogram[place-1] .head '= cl.head)
&& ([O]predicate[cl.head].num !'= 0)) {
error("program error!!");
>
program[place] .head = cl.head;
program[place] .guard_num = cl.guard_num;
for (1 = 0; i < cl.guard_num; i++) {
program[place] .guard[i] = cl.guard[i];
¥
program[place] .body_num = cl.body_num;
for (1 = 0; i < cl.body_num; i++) {
program[place] .body[i]l = cl.body[il;
¥
program[place] .var_num = cl.var_num;
if ([O]predicate[cl.head].num == 0) {
predicate[cl.head] .start = place;
¥
predicate[cl.head] .num++;
place++;
}

}

return O;



